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Question

Scale

Ql

How easy is it for you to reach this area (where you received the survey)?

1(difficult)-5(very easy)

Q2

How accessible is the area (where you received the survey) for you, via...?

1(not at all)-5(very)

Q3

How pleasant is it for you to reach the area (where you received the survey), via...?

1(not at all)-5(very)

Q4

How sufficient do you think the number of modes available in the area (where you received the surve:

J{not very connected)-5(well connected)

QS

How walkable would you consider the street (where you received the survey) to be?

1(not walkable at all)-5(very walkable)

Q6

How walkable would you consider the approximate area (where you received the survey) to be?

1(not walkable at all)-5(very walkable)

Q7

How long do you have to walk from the bike parking to reach your destination here (in minutes)?

nr of minutes

Q8

How long do you have to walk from the car parking to reach your destination here (in minutes)?

nr of minutes

Q9

How long do you have to walk from the transit stop to reach your destination here (in minutes)?

nr of minutes




